Abdul Rehman

From:	Manish Mulchandani <manish.mulchandani@adani.com></manish.mulchandani@adani.com>
Sent:	15 December 2023 11:04
To:	Irfan Sayed; Sandeep Bhat
Cc:	Abdul Rehman; Jatin Jain; Saikat Pal; Ameet Koomar; Akshay Sharma; Pankaj Rohatgi; Sanjiv Dhawan; Stephen P; Shama Nair
Subject:	TC Recommendation for Carl's Jr. Equipment for Lucknow Airport - Terminal 3 as per your requirement.
Attachments:	Carl's JR (Semolina) - 1875.pdf

#Subject changed as suitable

Dear Irfan/Sandeep

Please find our below recommendation for you to proceed. Refer attached quotation for terms.

A. SUMMARY

SI. No.	Project	Location	Particulars	Amount w/o Tax	GST	Amount with Tax	Vendor
1	Carl's	LKO	Kitchen Equipments	13,72,140	2,46,985.20	16,19,125.20	Gilly Professional Kitchen
2	Carl's	LKO	Transportation	55,000	9,900.00	64,900.00	Gilly Professional Kitchen
	TOTAL			14,27,140	2,56,885.20	16,84,025.20	

B. DETAIL AS PER BOQ

SI. NO.	Project	Item No.	Product Description		Qty	Rate	Amount
248	Carl's	11	Shake station (1 lot) (Gilly)		1	1,50,700	1,50,700
250	Carl's	16	Undercounter Chiller with s/s top for shake station (Gilly)		1	43,120	43,120
253	Carl's	19	s/s breading stn Veg (Gilly)	No	1	1,32,000	1,32,000
254	Carl's	20	s/s breading stn non Veg (Gilly)	No	1	1,32,000	1,32,000
255	Carl's	21	S/S work table (size per drawing) (Gilly)	No	1	13,200	13,200
256	Carl's	22	Chest Freezer (Gilly)	No	2	71,500	1,43,000
260	Carl's	26	Fry Rack with undercounter freezer (Gilly)	No	1	71,500	71,500
261	Carl's	27	Bun rack with wheel (Gilly)	No	3	4,400	13,200
262	Carl's	28	S/S 3- comp sink (Gilly)	No	1	66,000	66,000
263	Carl's	29	S/S Prep- sink (Gilly)	No	1	33,000	33,000

264	Carl's		S/S Mop sink (Gilly)	No	1	19,360	19,360
265	Carl's	30	S/s Bun landing table (size custom) Gilly		1	8,800	8,800
268	Carl's	33	Hand free hand wash basin (Gilly)	No	2	22,000	44,000
269	Carl's	34	Shorter Cookline, Single - S/S Main Prep. Counter (Hot Wells) With Top Shelf, Wraping Papers Shelves (Gilly)	No	2	1,21,000	2,42,000
270	Carl's	35	S/S Pass-Thru Fries Station with Fries Packing Holder (Gilly)		1	60,500	60,500
271	Carl's	36	S/S 2-tier Burger Chute (Gilly)	No	1	49,500	49,500
272	Carl's	37	S/S transfer table (Gilly)		1	49,500	49,500
273	Carl's	38	Walk - in Chiller s/s Thaw Rack (Gilly)	No	2	28,600	57,200
282	Carl's	47	S/S table for product holding (Gilly)	No	2	21,780	43,560
			Total Amount				13,72,140
			Transportation				55,000
			Grand Total				14,27,140

Regards, Manish Mulchandani

From: INFO GILLY <info@gillyprofessionalkitchens.com>

Sent: Thursday, December 14, 2023 3:24 PM

To: Manish Mulchandani < Manish. Mulchandani@adani.com>

Cc: Jatin Jain <Jatin.Jain@adani.com>; Utkarsh Singh <Utkarsh.Singh@adani.com>; LIONEL MENEZES <lionel@gillyprofessionalkitchens.com>; PLANNING GILLY <planning@gillyprofessionalkitchens.com>

Subject: Re: Quotation for Carl's Jr. Equipment for Lucknow Airport - Terminal 3 as per your requirement.

CAUTION: This mail has originated from outside Adani. Please exercise caution with links and attachments.

Dear Sir,

Greetings from Gilly....

Kindly find the attached revised quotation as per your requirement.

Awaiting for your valuable purchase order.

Feel free to revert back for any clarification Thanks & Regards.

Thanks & Regards Trifon Mascarenhas

AN ISO 9001:2008 CERTIFIED COMPANY

Shop No. 2 , Devidayal Estate, Opp SBI Bank, Shashtri Nagar, L B S Marg,Bhandup (w) Mumbai-400 078 Ph: 022-25668373

web: www.gillyprofessionalkitchens.comFollow us on Facebook: www.facebook.com/gillyenterpriseses, https://www.instagram.com/gillyprofessionalkitchens/

On Thu, Dec 7, 2023 at 12:30 PM INFO GILLY <<u>info@gillyprofessionalkitchens.com</u>> wrote:

Dear Sir,

Greetings from Gilly...

Kindly find the attached quotation as per your requirement. Awaiting for your valuable purchase order.

Feel free to revert back for any clarification. Thank & Regards

Thanks & Regards

Trifon Mascarenhas

AN ISO 9001:2008 CERTIFIED COMPANY

Shop No. 2 , Devidayal Estate, Opp SBI Bank, Shashtri Nagar, L B S Marg,Bhandup (w) Mumbai-400 078 Ph: 022-25668373

web: www.gillyprofessionalkitchens.comFollow us on Facebook: www.facebook.com/gillyenterpriseses, https://www.instagram.com/gillyprofessionalkitchens/

DISCLAIMER: The information contained in this electronic message and any other attachment to this message are intended solely for the addressee and may contain information that is confidential, privileged and exempt from disclosure under applicable law. If you are not the intended recipient, you are hereby formally notified that any use, copying or distribution of this e-mail, in whole or in part, is strictly prohibited. Please immediately notify the sender by return e-mail and delete all copies of this e-mail and any attachments from your system. Any views or opinions presented in this email are solely those of the author and do not necessarily represent those of the company.

WARNING: Computer viruses can be transmitted via email. The recipient should check this email and any attachments for the presence of viruses. Adani Group accepts no liability for any damage caused by any virus transmitted by this email.